Pre-Calculus/Trig 3 Name

Verifying Identities Worksheet Date Block

Directions: Verify each trigonometric identity. Complete all work on a separate piece of
paper.

1) cos3 8 + sin? 8 cos§ = cos O 2) csc?@ —cos?Bcsc?h =1
3) secOsinf = tan 6 4) 58 — coth
secO
sec? -1 cotf
5) —p = tan 0 6) g~ tan 0
7) secfsinfcotld =1 8) cotd cscH tan? § = secd
9) cos?0 —sin?0 = 2cos?0 — 1 10) cos?@ —sin?0 =1 — 2sin? 0
11)  cotfsinf = cos @ 12) 228 _ing
secf
13) sin@(1+csch) =sinf +1 14) (1 +tan6)? =sec?f + 2tanb
15) (1 +tan?8)cos?f =1 16) cosO =sech —sinftanb
17) (secO +tanf)(secd —tanh) =1 18) % =secH — cos @
_ 29—
19) 12299 _ tang — 2secd 20) =°1_tang
cotf tan @
21) sin@ 4 cosfcotf =csch 22) cosB (cscO —secB) =coth — 1
23) 2% _sech 24)  tan*6 —tan®* O sin® 0 = sin® 0
1-sin? 60
cotd . 1+tan?6 4
25)  oomg = sinbcos6 26) ozg — Sect o
sinf+cos6 secf+tanf . 2
27) ~nfeoss = secO + cscO 28) ~<dicorp = SN 6 sec 0
(14sin6)?> _ 1+siné 1+secf
29) cos2  1-sinf 30) tan6+sin® cscd
2
31) cscHcos? O +sinf = csch 32) Cszc—e = sec? 0
csc?0-1
. cotd _ 2 2cos?0-sin? 6+1
33) sinf (sece + csc 9) =cos“0+1 34) - = 3cosf
35) cscH —sinf = cotf cosf 36) 1 L = 2csc28

1—cosfO 1+cos6



Extra Practice

1)

3)

5)

7)

9)

11)

13)

15)

16)

1+tanf@
tan 6

=1+ cotf

csc*O —cot*@ =2csc?6 -1

1+secf csc @
tanO+sinf
1
—— =secH + tanéb
secf—tan@

1 —sinf =tan 6 (cotd — cosB)

1-sin @
1+sin 6

secf+tanf _ 1+sinf
secO—tan 6 cos 6

csc?6-1
cos20

(secH —tanf)? =

sin? 6 ( — cot? 9) = sin? 0

2)

4)

6)

8)

10)

12)

14)

cosf+tan 6
——— =secH + cotf
sin 6
cosB+coth
—————— =cos#
cscO+1

2—sec?6 _ 1-2sin?0

secH cos @

1+ cosf = cotf (sinf + tanB)

tan 6
1+tan2 6

1-cosf _ 1—-cos@
1+cosf  sin

sin*@ —cos*8 =1 —2cos?6

= sin @ cos O

(sinf — cos0)? + 2sinf — cosO = (1 + 2sinH)(1 — cos H)



